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[2.5 Marks]

A

In an experiment where secondary effects are very low, it was found that current
at anode is 1.6 x 107 A when the electrodes are 0.01 m apart. When the distance
between electrodes is reduced to 0.005 m, current at the anode reduced 0
1.6 x 108 A. Calculate the Townsend’s first ionization coefficient and the initial
number of electrons available at the cathode. State the assumptions you make,
[3.0 Marks]
Write down the expression that relates Townsend's first and second ionization
coefficients to the distance between electrodes, number of electrons at the anode
and initial number of electrons available at the cathode when the breakdown
voltage is applied between anode and cathode. State the assumptions you make,

[2.0 Marks]
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